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The test has 30 questions. Some with multiple parts.

Each question is worth 2 points.

You have 120 minutes to complete the test (more if you have accommodations).

You are allowed one 3x5" index card. This is your individualized card, and you will need to attach it to
your final exam (you will get it back).

alh e S

Common test instructions:

5. You should SHOW YOUR WORK for all parts of the answer to receive full credit.

6. Write your answers using either blue or black ink or a pencil. Please don't use red pen.

7. Clearly indicate (underline/ box/highlight) your final answer. Only ONE answer per question will be
considered.

The use of calculator is NOT allowed.

Good luck!!
Dr. Baharav
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1. Find the equation of the line going through the point (0,1) and parallel to the line Y = 3—x.
Plot the two lines below.

wallel= Yane sty

f‘

\\
2. Solve.
{5x+3y=7 CL.M/%
3x—2y =28 43 (_{) 7/
ax G e+ 6914 - Y
g 2 qx _.6 _,)/(’l)‘(? '
[Qx ) ,3(?'—’?! )(’ \
3. Solve.
x+2y=11
{Zx—y:Z
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4. Simplify:

(Bx—2)-(3—2x)— (2x2—4) =
(01 A= 6K =6 ax )*(wl’ﬁ) .
rtaent v g2

(B—-2x) - (2x3 +2x2+1) — (523 = 1)

5. Simplify:

L RS PP AT iy

3

2 ~)_)(L'_'7>)( | 6K3\—LX 4(,

6. Factor completely: _
16 — 9x2

x%2 —4x—12

7. Factor completely:

LQH)(MLH

3x% 4+ 10x — 8

8. Factor completely:

MIA]T Rt s
“LG Lo [ &, -k
Tt 1 2x(X+4) 1 (¥+4)=
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9. Simplify:
3x + 3y
(x? —y?)
309)
A9 ) (X-9) B
10. Divide: J
(x5 —6x3+7x* —=5x—2 )+ (x—2)
0 —E st Tt . |
L] i [ U+ 3K £ |
Ly e ¢
7L -0 3 1|0
11. Divide:
(4x3 +2x? —10x — 3 ) = (2x — 3)
k3
X -+ | RN
LX;LL_/L,____ (w/ u,}wj
LxX-3 [ Lx 43K —tof-3  ~
Y -6y*
=~ §x*—loX
&P~ 1Lx
12. Simplify: Y =
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13. Simplify:

5v3 — 3v12

?ﬁ'ﬂmff:’ﬁ

14. Simplify (write as complex number if necessary):
V=9 . V7Z |

VIV ]|

15. Simplify (write as complex number if necessary):

(3 —vV—4)-vV-16 |

(3-20)04¢= [1L6 8 | ’

16. Solve (Remember to show your work!):

2x%>+8x =0

x(1x<f)=0

17. Solve (Remember to show your work!):

2x%2—-8=0
. o

2 =8 > X =4 - ’X=f; cled s

18. Solve (Remember to show your work!):

2x>+8=0
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19. Solve (Remember to show your work!):

2 —
2x*+3x—9=0 /‘FT‘

9

Y . D E4+409 wg,fm EY
“ = — =

4 . q

The next 4 questions refer to the following function:

y=—(x—1)*%*+2

20. Fill-in the table of values for the function.

X y
K] -7
-1 —3
0 {

1 i’N
2 |

3 B

21. Graph the function. Label the vertex, and indicate the x-intercepts and y-intercepts if any.

{
Lo

f
I

o
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22. Calculate (algebraically) the y-intercept(s).
p
- - + =
gm0 Y= (o . <[l
23. Calculate (algebraically) the x-intercept(s). 7 j e 97 ‘é( ‘)

L
(x-1) =&
v-1= £/

2.
-#Jb =0

-

24. Solve for x.

a. x =logs27 B
3 l)(_B

c. 2%+2 =16

)44-7;)/ )Y‘: 3

-

25. Calculate the following.
a. logg(2)

5

c. log(1000)
I3

26. Simplify (Rationalize the denominator):

s-viz xi]  3/7-73(5)
Vi  x3 2
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27. Simplify and give restricted values:

X (x —1)
x—4 x+3

a. Restricted values:
} X=i 05

b. simplify:

ey~ ) |
T (L*g)Ca+3)

28. Solve and check:

9 " B -
x2—25 x+5
a. Solve: :
q_* 30
(3{ ) (+§)
74’;)(-/3_‘0 = X = EHETE
b. Check: \,LuA
4 320
_— 7
ULy
"
w 12
,ﬂ +.7v0 :
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29. Solve and check:

V3x+10=2-x
c. Solve:
Fp 0= g 2
Q-0 =0  K,®
d. Check:

30. Simplify and give restricted values:

9x% — 16 3x — 4

(Bx+4)  9x+4

a. Restricted values:

b. simplify:

=== Fnd of test

Practice







